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1) Evaluate 

a) 419.02 + 0.11 – 600 – 38.5							(2mks)











b) 3/8 of   73/5 – 1/3 (1¼ + 31/3) x 22/5						(4mks)
















2) Express as fraction in lowest terms 169/130.					(2mks)








3) If  x=-2,   y = -6 and Z = 4 find the value of 	4xy				(3mks)
							  z












4) Evaluate 24÷3 + 4 x 5 – 8 ÷ 4 x 10 + 1						(4mks)












5) Evaluate										(8mks)

a) -3 x -7




b) 12 x -5




c) -11 - -19




d) +30 ÷ -6

6) Write in words: Thirty eight billion less fourty eight million two hundred and three.	(3mks)










7) Given the number 89365.474

a) What is the place value of 7 in the number						(2mks)




b) Total value of 3										(2mks)




c) Round of the number to 2 dp.								(2mks)




d) Round the number to the nearest 100.							(2mks)






8) A matatu charges shs. 120 as fare from town A to B. It has a capacity of 18 passengers. It can however carry 5 more passengers, but will have to pay a penalty of shs. 100 at each of 8 check points. The distance between A and B is 84km and the cost of petrol is shs. 58 per litre. If the matatu consumes 1 litre per every 7 kilometres, calculate;

a) How much is gained if the matatu does not overload.					(3mks)





b) How much is lost if the matatu overloads.						(3mks)











9)  a) How many composite numbers are there between 1 and 6?				(2mks)






b) Express 30 as a product of its prime factors.						(2mks)






10)  Test whether 6930 is divisible by.							(6mks)

a)  2
b) 3
c) 4
d) 6
e) 9
f) 11
11) Write is standard form 42.39.								(2mks)





12) A farmer has three containers of capacity 12L, 15L and 21L. Calculate the capacity of;

a) The smallest container which can be filled by each one of them an exact number of times.													(3mks)









b) The largest container which can fill each none of them an exact number of times.	(3mks)












13) Express as a fraction 0.670.								(2mks)








14) Arrange in descending order								(2mks)

4/9, 7/8, ½, 2/5


15) Indicate on a number line;	     -3 + +6 + -5						(4mks)








16) Charles spent ¼ of his salary on food. He then spent 1/3 of the remainder on school fees. He then spent ¼ of the remainder on electricity. He finally has shs. 3000 left.

Calculate the amount spent on;

a) Food											(2mks)






b) School fees										(2mks)






c) Electricity										(2mks)







d) Total amount										(4mks)









17) Three bells ring at intervals of 40mins, 60mins, and 75mins;

a) Write the three numbers as a product of their prime factors.				(3mks)












b) Find the G.C.D of the three numbers.							(2mks)









c) Find the L.C.M of the three numbers and give the time in hours.			(3mks)













d) If they ring simultaneously at 5.20am, at what time will they ring together again?	(2mks)






18)  Evaluate;		

a)   29.6 – 72.3   to 3 dp.									(4mks)
	0.28 x 0.09










b) Write the number whose standard form is;

i) 8.88 x 10-2										(2mks)






ii) 3.7 x 100										(2mks)





19) Evaluate ;

a) 4/5 ÷ 2/3											(2mks)





b) Find x if 3/5 = x/15									(2mks)





20) Express as a mixed number	523							(2mks)
					 12
					
1

